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smgular linked lister 3 ie = linearly search o 2k Nodeshig ide™ - (125 )
class Node {
int data=o9;
Node next=null;
Node(int dd, Node nn) { data=dd; next=nn; }

}

SRR |4 R RE 5 - e 2R 5 B B R P B I R A B AR RE T -
ZRiand | (EREER) o SECULHR > EEGRES 0 H3-11~3-14

:
(—) P
Node * linearSearch(Node * head, int x) {
mode * p=head;
while (p!=NULL) {
if (p->data==x) return p;
else p->p—next;
}
return NULL;

}

(DR

Node * linearSearch(Node * head, int x) {
if (head == NULL) return NULL;
else if (head->data == x) return head;
else return linearSearch(head->next, x);

= ~ % » #30,10,30,20,50,80,40,90,70,60: = AVL tree, Min/Max heap,2— 4tree » i i v et
riyes Or NO= = F & o 3L #riE = eitree or heapyy 4 BT 0 4% & Searching Tree » 34 = /|
4 X NE o (24 /,,\)

Balance Searching Tree

AVL tree
Min heap
Max heap
2— 4 tree
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(—)AVL tree
Min heap :
Max heap @

2-4 tree @

(C)FEREAEATT

Balance Search Tree
AVL tree yes yes
Min heap yes no
Max heap yes no
2-4 tree yes yes
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A RERFAR | AR E R SRS E - EEH OGS TE R SRIBN - B RsE ] -

ZEanP | (EREERE) - SECUBHR - FEGREE - H11-6~11-11 °

5B
Huffman code 0101 0111 11 0100 1000 11
Decoding 0101=9 0111=5 11=1 01000 1000=6 11=1
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o B e T g e B (F B AT H % @M il F 5 4 dhcost) o 40T BFS (e f
queue) ¥2DFS (fe &stack) i 8 i » & {797 & Behd 3y » § BEET AP E > ndamlt
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Directed Graph BFS i & ;2 Loopl | - DFS & &% | Loopl
/@\ print node print node
217 1 31
gueue Stack
processSet processSet

BFS/DFS;# & ;2 (/% 3 BFS# * queue, /{4 5 DFSi# * stack)

Step1: set [queue/stack] to empty

set processSet to empty
Step2: enqueue/push| S and add S into processSet
Step3: while [queue/stack| is not empty

- [dequeue/pop| and print it
- lenqueue/push| all one step neighbors which are not in processSet
according to the cost of edges and add them into processSet

Step33: display content of and processSet

SR RERTAT | AN ERBFSEIDFSHITEIEY 18177074 » #EHL Y BB MU B R B R

ZRianh | (EREER) o SECUEHIR - EEGERFEE 0 H8-19~8-30 °
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BES /&% | Loopl Loop2 Loop3 Loop4 Loop5 Loopb Loop7 Loop8
print node S B A C X Y Z
queue S BAC ACXY CXY XYZ YZ Z empty
processSet {S} {SABC} {SABCXY} {SABCXY?} | {SABCXYZ} | {SABCXYZ} | {SABCXYZ} | {SABCXYZ}
(Z)DFS & LIFO 45t » %S cost FHE MR push & stack » K cost BAEA &5 pop HiZKEG -
DFS JE&% | Loopl Loop2 Loop3 Loop4 Loop5 Loop6 Loop7 Loop8
print node S B X A Y A C
S B X Z Y A Cc empty
A Y Y A C
queue C A A C
C C

processSet | {S} {SABC} | {SABCXY} {SABCXYZ} | {SABCXYZ} | {SABCXYZ} | {SABCXYZ} | {SABCXYZ}
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entime complexity ( BRX £ A T Fni > FH =#&F d

) ~ & F %In— Spacei# ¥ 2 ~ £.F & Stable/# & 2 2 § | #:5(50,46,37,28,19:& {7 "% F 4 7|
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PR B Time Complexity In—Space Stable F RS TS
A Best Worst | (Yes/No) | (Yes/No) 50,46,37,28,19
Bubble
Insertion
Merge (% #p* »
s XE 51
Quick (% - B %
pivot )
Radix (base 10)
Selection
X RERTAT |HEFPmuSE &5 RE - S 4 B S AE R T AMNAE S TE
ZZmp | (BRERE) > SESUEHR > EEORSEE 0 H9-71~9-74 -
:
. Time Complexity In-Space Stable PR LI EL
R B A Best Worst (Yes/No) (Yes/No) 50, 46, 37, 28, 19
Bubble O(n) om) Yes Yes 4
Insertion O() o) Yes Yes 4
Merge (& > 1%
S ) O(nlogn) O(nlogn) No Yes 5
chk (s O(nlogn) O’ No No 10
pivot)
Radix (base 10) T B
key A k R O(kn)=0(n) O(kn)=0(n) No Yes 0
Selection om) om) Yes No 10






